
8 ISOMETRICS VIEW FRONT 
- SCALENTS 

NOTES: 
1 FOR SERVICE CONNECTION ARRANGEMENTS REFER TO S04-02-01-25 OR S04-02-01-26 

2. DRIP LOOPS SHALL BE FORMED AT EVERY INSULATION PIERCING CONNECTOR. 

J ALL INSULATION PIERCING CONNECTORS SHALL BE INST AL LED BELOW THE BUNDLED 

CABLE 

4. EYE BOLT /NON-BREAKAWAY CONSTRUCTIONS SHALL BE USED IN THE FOLLOWING 

SITUATIONS 

- WHERE THE LINE DEVIATION ANGLE BRINGS THE CABLE OVER ANY ROADWAY. 

- WHERE THE CABLE CROSSES OVER ANY ROADWAY, RAILWAY OR NAVIGABLE 

WATERWAY 

5 NEUTRAL CORE SHALL BE BONDED TO THE POLE EARTH AT EVERY POLE. 

2 AMENDED ITEM 10 AMENDED NOTE 1 UPDATED IMAGERY & ADDED ISOMETRICS 
BACK VIEW & DETAIL A & B 

1 TITLEBLOCK & DRAWING NUMBER FORMATTED 
0 RENUMBERED FROM S01-02-01-32, MATERIALS AND NOTES UPDATED 

NO DESCRIPTION 

AMENDMENTS 

cc 

KT 
cc 
ORN 

8 ~~~L~~:~ICS LEFT SIDE BACK VIEW 

8 ~~~L~~:~ICS RIGHT SIDE BACK VIEW 

"-OCT'22 BV BC PowerWater 
DEC'19 cc cc 
APR'12 A.T. BC 

DATE CKD APPD NORTHERN TERRITORY 

LUG, COMPRESSION, Cu, 35 sq.mm, M12 

M12x40 GAL V. STEEL BOLT C/W NUT 
11 

M12 GAL V. STEEL FLAT WASHER 

M12 GAL V. STEEL SPRING WASHER 

10 AR CABLE. PVC-XLPE-Cu, 35 sq.mm, UV RESISTANT 

9 CONNECTOR, IPC, 150-50 sq.mm MAIN, 35-6 sq.mm TAP 

8 CROSSARM, L V SERVICE, 100x50x4 DURA GAL CC 

7 EYE NUT, 18kN, M24 

M24x50 GAL V STEEL BOLT C/W NUT 

6 M24 GALV. STEEL 75x75x5 SQUARE FLAT WASHER 

M24 GALV STEEL SPRING WASHER 

5 STRAIN CLAMP, L V ABC, 4x150-95 sq mm 

4 4 CONNECTOR, IPC, 185-50 sq.mm MAIN, 150-50 sq.mm TAP 

3 M16 HOOK, NON-BREAKAWAY ASSEMBLY 

2 SUSPENSION CLAMP, ROLLER COMBINATION 

AR L V ABC. FOUR CORE. 95 OR 150 sq mm 

402689 

503669 

400832 

239616 

407083 

415586 

298554 

298711 

114629 

298828 

114330 

415585 

415587 

3160 

213876 

197731 

S02-01-02-11 

S01-01-04-43 

S02-01-01-35 

S04-01-02-15 

S01-01-02-11 

S01-01-04-41 

S01-01-04-43 

S04-01-02-11 

S04-01-02-15 

S04-01-02-07 

S04-01-01-01 

S04-01-01-01 

ITEM QTY DESCRIPTION ITEM NUMBER DRG. NUMBER 

MATERIAL SCHEDULE 

DES A.TAYLOR POWER STANDARD ORA WING 
ORN CCOPPINS POLE TOP UNITS 
CKD A.TAYLOR L V AB(. BOLTED POLE CONSTRUCTION 
APPD BCHEUNG 

SUSPENSION ANGLE TEE OFF 
PROPERTY SIDE 

SCALE N.T.S. 

ISSUED APRIL 2012 
A3 DRAWING S04-02-01-23 

ALL DIM_ IN mm NUMBER 
1----------L--------1-----------1 In 

DRAFTING STANDARD TO A_s_ 1100 CAD PRODUCT - DO NOT AMEND MANUALLY AMOT 

https://www.powerwater.com.au/standard-drawings/S04-02-01-25
https://www.powerwater.com.au/standard-drawings/S04-02-01-26
https://www.powerwater.com.au/standard-drawings/S01-02-01-32
https://www.powerwater.com.au/standard-drawings/S02-01-02-11
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S02-01-01-35
https://www.powerwater.com.au/standard-drawings/S04-01-02-15
https://www.powerwater.com.au/standard-drawings/S01-01-02-11
https://www.powerwater.com.au/standard-drawings/S01-01-04-41
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S04-01-02-11
https://www.powerwater.com.au/standard-drawings/S04-01-02-15
https://www.powerwater.com.au/standard-drawings/S04-01-02-07
https://www.powerwater.com.au/standard-drawings/S04-01-01-01
https://www.powerwater.com.au/standard-drawings/S04-01-01-01
https://www.powerwater.com.au/standard-drawings/S04-02-01-23
https://www.powerwater.com.au

